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%msthawa: Ruler graduated in centimetres and nrillimetres, Total Marks
protractor, pair of corrpasses, pen, HB pend], eraser. Tradng
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Instructions

& ke bladkirkor ball-pairt pen

® Fill inthe baxes at the top of this page with your naime;
centre nurrber and andidate nunoer,

@ Amrmwer all questions.

@ Amswerthe cuiestions in the spaces provided:
— there may be rore space thanyou need-

¢ Calafators mustnot beused

Information

® Thetota markfor this paperis 100

@ The narks for eadch question are shown in bradets
—usethis as aquide as to howmudh tinre to spend on eadh queestion.

® Questions laballed with an asterisk (%) are ones whare the quality of your
written communication will be assessed

Advice
@ Read each question carefully before you start toanswer it
Keepangeonthetin®e

@
e Trytoaswer evary guestion
® (hedkyour answers if you have tine at theend
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Fonmilae: Foundation Her

You nast not write on tlis fornmilae page.
Amnything you write on this formmulae page will gain NO credit.
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Amswver ALT . questions,
Wiite your answers in the spaces provided
You must wirite down all stages in your working,

You nast NOT use a calaulator:

1 e are sone solid 3-Dshapes.
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A B C

(@) Wite down the letter of the shape that is a sphere.

n

(b) Wiite down the mathenmtical nane of shape A

(©) Fowrrany faces does shape Bhave?

(d) Bownrany edges does shape Dhave?

(Total for Question 1 is 4 navks)
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2 (@ Wite down the nunber five hundred and seven in figures.

@
(b) Wite down the value of the 4 in the runber 9346

@

@)
(Total for Question 2 is 3 nmks)
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3 (@ Wakout 502%60£86

50'3/‘) 5: \/\Q\C ﬁL
&)
(B) Work out 3+ 5 %2

Kyd=1w 24 (0= (3

. .....E‘.'].-.i.
(c) Write down an estinmate for Jeo

Jha =1 \S bebween b
m - :5 (1)

(Total for Question 3 is 3 imrks)
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(a) Measure the size of the angle marked 4.

() In the space below; drawa line of length 5 em

@
(Total forr Question 4 is 2 mauks)
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5 'The pictogramshows the 1mrrber of tins of dog food sold in a shop on Vonday;, on
Thesday and on Wednesday last week.

Moky () O O
ey | O O O (

vty | O ( Key: () represents 10tins

sy 1) O O OO0 O
Fiday OO O d

On Thursday, 60 tins of dog food were sold in the shop.
* OnFriday; 35 tins of dog food were sold in the shop.

(2) Use this infommtion to conplete the pictogram

@
Moxe tins of dog food were sold on Thesday than on Monday,
(b) Fowimany nore tins?
Mon = 30
. b -20 = 1%
Toes = W
@ .
(Total for Question S is 4 narks)
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6 The table gives infammtion about the tenrperatures in Reykjavik for 5 days one week

Day Masinum tenrperature | Minimmn teperature & {\!‘

Mbonday 5% 4°C A

Tuesday 8°C 6°C ga

Wednesday 6°C ik %

Thursday -1°C -4 °C A

Friday -3°C ~6°C i

(@) Which day hed the highest mexinumtenperature?

Tuesday

@

(b) Wiat is the Jowest mininum terrperature?
-

(©) Which day had the greatest difference between the neEximEntenpeatre
and the minimum tenyperature’?

See  ahpove
o Wednesday
@
(Total for Question 6 is 4 narks)
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7 (2 Wite down the fiaction of this shape that is shaded.
Give your fraction in ifs sinrplest form

(b) Wiite -120 as a decinral.

®»
(c) Tania says that 75%is greater than 0.8

Is sheriglt?

BExplain your answer.

e NO 2 0B 2 O8O0 2 BOUo e
'7‘“‘/&5\’\&3%@(@\“%0/

S [ L CH 1 R
' ‘ @

(Total for Question 7 is 4 rmarks)
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8 (@

Shack one nore square to mreke a patterm with 1 line of synetry.

@)
®
U
Shade one 1ore square to rake a pattem with rotational symmetry of order 2
' €))
(Total for Question 8is 2 marks)

A

00 -




-

9 (a) The probability scale shows the probability that a spinner will land on red.
1t also shows the probability that the spinner will land on blue.

blues red

! N
i A

0

Nl X

Tony says the spinner is imore likely to land on blue than on red.

Is heright?
Explain your answer:

khon

@
(b) There are 3 white counters and 4 black counters in a box.

O,
e

Jenniy is going to take at randoma counter firomthe box.
(1) Wiite down the probebility that Jeruay will take a black counter:

(1) Wiite down the probability that Jeriy will take a yellow counter.

(Total for Question 9is 3 nanks)
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10 YEre are the ticket prices for enfry to a nuseun

Ticket prices
Adult ticket £12
Child ticket £7
Seniar ticket £8

Family ticdket (2 adult tickets and 2 child tickets) £30

Shenus takes his fanily to the musaum
FE gets tickets for

2 adcuits,
3 childien,

1 senior

Sharmus pays the least possible amount of money for the tickets.
Fe pays with three £20 notes.

Howmxch dhange shauld he get?

Y ?am'i\\j = ﬁ%o
I« O{\\\ o) = g—_:{’
| x  semor = )Q%

£ub

3 x £2,0 = 460

feo- {45 = £15

= -
g 19,00

(Iotal forr Question 10 is 4 narks)
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(a) Wiite down the cooudinates of the point P.

( ‘ > . )
@
(b) Wite down the coordinates oft_hepointR.
G O “93 ........... )
@®
P, Q and R are flwee vertices of a parallelogram
(c) Wite down the coardinates of the fourth vertex of this perallelogram
7
"} e
( . 1 )
@
(Total for Question 11 is 3 marks)
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12 Here are the first four tems of a murber sequence.

3 s 11 15

(@) () Wiite down the next termin the sequence.

.

(i) Explain how you got your answer.

S I e

@
(b) Wik out the difference between the 10th termand the 15th termin the sequence.

® © B 0 0 0 6 6 HLEOLWOW

I it ts 9 23 2% Ay A 3% s WSSy

|Sth -~ 10%h | ‘2@

&9 -~ 3 = 20 @
(Total for Question 12 3s 4 marks)

13 @-Sinplify  f~+f+/+/-f

D

(b) Sinplify 2m %3

(D

© sinplify (3af-Zifrafr3]

o har B

@
(Total for Question 13 is 4 narks)
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14 Haeis part of a bus tinetable from Hanmow Lane to Carthridge Street.

Harrow Lane to Cartbridge Street

HFarowLane |2 0o 1012 1102 1204 1212
EimDyive 0819 0921 1029 11 19 1221 1229
Faurden Road 0832 0934 1042 1132 1234 1240
Swipe Crescent o841 43 1051 11 41 1243 1251
Cartbridge Street 08 30 w52 1101 11 50 1252 13 01
Al goes fiomBamow Lane to Cartbridge Street.
The bus leaves Fhmow Lane at 08 (02
(a) Atwhat tine should the bus get to Carthridge Street?
LOB5C
)
Here is part of a bus tiretable fiom Cartbridge Street to Fanvow Lare.
Cartbridee Street to Harmow Lane
Carthridee Street 1311 14 14 1507 1611 17 14 1807
Swipe Grescent 1320 1424 1516 1620 1724 1816
Farmden Road 1329 1433 1525 1629 1733 1825
HmDive 1343 1447 1539 1643 1747 1839
HanowLare 1353 1457 1549 1653 1757 1849
Al gocs fiomCarthxidee Street to Faurow Lane.
This bus leaves Fanden Road at 13 20
(b) Warke out how many minutes this bus should take to go fromBancden Road to
HimDxive,
1229 = 13%3 = i
b
0
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Peter lives in Hanow Lane.
His grandmother lives in Swipe Grescent.

Peter visits his grandnoiher.
FE goes by bus fromFarow Lane to Swipe Grescent.

Peter wants to have at least 3 hours with his grandinother.
Fe needs to be back at Famow Lane by 16 00

*) Plan Peter’s journey to visit his grandnother and get back to Harow Lane,
Younst inchude the tines of the buses.

Last bus hack ko Harow lane \QQ OO & ovries
i(;/
hus  home from

ok I1bwa ., Re muk geb

Suipe Cresent .

o ghe w3 hours  Hhe  lakesk bus he  con

Gaave  on s W T leaves  Harrow at 1107,

ANSINER.

Harow b0 Swge Crescene W02~ 1l

Grrond mnather (% Noor ‘3)
Swipe Crescent ko Housrow 151 — 15 .44

@
(Total for Question 14 is 6 narks)
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15 You can use this graph to change between pounds (£) and dollars ($).

A
40 [ 4
5 sr
S i
B L
30
P
Dollars ($) #
201
P
i ’/’
10
58 P
0 2
0 5 10 15 20 25

Pounds (£)

(a) Change £20 into dollars (3).

In London, Sano headphones cost £60
In New York, Sano headphones cost $§100

Sano headphones cost more in New York than in London.

(b} How much more?

£QU x 3 = £QDU

b
Faax 3 = {9t

$ioo - 496 = Ju Sl

(Total for Question 15 is 4 marks)
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16 (@) Worc ot 3¢

Axd =Y

2% 34D = B AxD = 2LF

(b) Wfite down the cube root of 64

L)Q)L\“ ~= ? X ?x? = b4

Ak A BxD

Lol
®

Bk bk 3= 27 (@3]
@ w® MoxG o= Gl ) )
(Total for Question 16 is-2 narks)
17 (@) Solve y+5=12
[ ERv]
D (1) .......................
(b) Solve §=3
{2 =3 7
X =
Al =1L @
{© Solve Spw—6=10 N
® @
s it
w o= 1o =
5 (Total for Question 17 is 4 marks)
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18 Yan recorded the ages, in years, of a sairple of people at a faingroand.
FE drew this stemand leaf diagramfor his results.

moc\Q

11557 77709

210 3 7 8 8

346 7 7 Key:

412 5 9 IISrqxesa'ﬂSlSyiaalsofage
5|0 5

(@) Wiite dovn the murber of people in the sanyle.

o

(b) Wiite down the 1mode.
(c) Work out the range.
b’i%@,‘ak - smaliesk = 655 ~ 1% = KO
. S S
@
(Total for Question-18 is 4 mals)
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“
DiagramINOT
aoccarately drawn
Work out the value of y.
Give reasors for your answer,
x = 107 becawse cw.j\es around @ point
add up ko ReO"
(BQ_)O ~ 200 ~ 90 = ?0\,
"W\é E\f\w\»@\@ o sosceles cmd “hQ 0&\3\@5
ok up ko 1B0° ™~ botlr base ongles
owe e same
180 -0 = 110
.,iii).- i 5\§
2 e
(Total for Question 19 is 4 nans)
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She pays £3 for each bag,

Sa;xrse]lsé of the bags for £5 each.

She sells % of the bags for £4 each.
Sapir wants to roake a total profit of £75
Towirch should she sell each of the reraining bags for?

Gl G = £\%O

‘“%%’ of GO - R0 30x 5 = F1S0

! ; ' 7@

7 of 60 = 20 2 x Y = £¥O

diso + 230 =£220 Wl L5 v higo = 1ss

Joss - £220 = £95 moe © needed

GO - 230 -0 = 10 bags \eft

(Total for Question 20 is 4 marks) -

95 {0 = £2-50 £.L:90 .
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21 Felicity asked 100 shudents how they carre to school one day:
Each student walked or carre by bicycle or cane by car:

49 of the 100 students are girls.

10 of the girls canre by car.

16 boys walked.

21 of the 41 students who camre by bicycle are boys.

/ vodd | Biee | Gor | Tolal
Poogs / i 91 e | &l

20

Tol

35

(Total for Question 21 is 4 narks)
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22 The front elevation and the side elevation of a cuboid are drawn on the grid.

On the grid, draw the plan of the cuboid.

(Total for Question 22 is 2 marks)
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23 Here are the ingredients needed to rake 16 gingarbread nen,

ff.

Trgredients N (llf\cd{;) |
tomake 16 gingerbread men % gy edorecdd
180 g flour A0g
40 g ginger 204
110 g butter ?5?5(3
. e y. 553
Harish wants to ke 24 gll‘lgelheadlm
Wak aut hownmch of each of the ingredients he needs.
- Flour = (80 +490
Cril{\(ﬁ‘&f = B0 + 20
Boler = N0 +50
. = AD FIS .
S\{(j&[ QI}Q g flour
oQ S—cyeiess ol |
65 e
%‘b g sugar
(Total for Question 23 is 3 nmarks)
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24 The scatter graph shows infoiration about the height and the anmiength
of each of 8 students in Year 11

Fx

110

100

Armlength ‘ L
(co)

701

120 130 140 150 160 170 180

Feight (cm)
() What type of carrelation does this scatter graph show?
@

Adifferent student in Year 11 has a height of 148 cm
(b) Estinate the anmnlength of this student.

(Total for Question 24 is 3 marks)
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23 Hereis a diagram.of Jimi's garden,

DiagramINOT
EZm accurately dravwn
Pf
Om A '
B
-
18m 1g-ii=e

Jimwants to cover his grden with grass seed to ke a lawn,
Grass seed is sold in bags.
"There is enough grass seed in each bag to cover 20117 of garden,
Each bag of grass seed costs £4.99

Wk out the Ieast cost of putting grass seed on Jin's garden.
A:  Ax 9 = (08w

B bx9 . Sk L 2F e’
ux :

Totad  Aea = (08 +27 = [135m*

20
4o Tx 499
60
o | Tx s = £35.00
e
o talce 0 T« ff’ = p
@ 7 bags  needed
££_%L+C}5
(Total for Question 25 is 4 marks)
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28 Hereis anmp.
‘The 1rep shows two towns, Barford and Hightown.

Hightown

Scale: 1 amrepresents 10km

A conpany s going to build a warehouse.
The warehouse will be less than 30 kainfrom Burford and less than 50 kmfiom Hightown,
Shade the reglm on the mep where the conpary canbuild the warchouse.,

(Total for Queestion 28 is 3 marks)
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*29 Talil is going to neke soire conarete mix.
He needs to mix cenrent, sand and gravel inthe ratio 1 : 3 1 5 by weight,

Talil wants to ke 180 kg of corcrete imix.
Talil has
15 kg of carrent

85 kg of sand
100 kg of gravel

Does Tlil have encugh cetvent, sand and gravel to rrake the concrete 1mix?

(ﬁ(&vd\" = S k20 = 'iCQkL) /

No Talll  need bkq more  cement

| +3¢+5 = 9

150 = Q = 20
cement = ixlo = 'Q,ij x 940 -5 = 5
sandk = 3X20 = LOrg

(Iotal for Question 29 is 4 nnds)

TOTAL FORPAPERIS 100 MARKS
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